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Question ID : 26433081534
Status : Answered
Chosen Option : 1

Q.2 ©w fAfda e urar §, "CRUST' &Y '201921183 & =1 | i@t wiraT § 3R 'BLAME' &Y
5131122’ P =7 ¥ forar sirar 81 I YTWT & ‘PLASTIC’ Y 4 forar a2

Ans X 1.18204165138
o 2.39201911216
/< 3.73110209325
< 4.71642578102

Question ID : 26433067578
Status : Answered
Chosen Option : 2
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Question ID : 26433070401
Status : Answered
Chosen Option : 4
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TG o T : 2

Ans X 1. T&uU™
o 2. 3Ue
X 3. sfaRe
X 4. UReHHT

Question ID : 26433067806
Status : Answered
Chosen Option : 2

Q.5 I Y=Y P TG S RraH T=mg oy § 33t weR dafta & O vor fafufaa
o Tt kit
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Ans 7 1.(125, 25, 100)
X 2. (125, 25, 5)
< 3. (125, 100, 5)
X 4.(125,5,25)

Question ID : 26433087183
Status : Answered
Chosen Option : 1
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Ans 7 1. HQX
& 2.HQS
< 3.HXQ
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Question ID : 26433085327
Status : Answered
Chosen Option : 1
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Ans 7 1.IPKU
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Question ID : 26433056195
Status : Answered
Chosen Option : 1
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Question ID : 26433069002
Status : Answered
Chosen Option : 4
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X 2.4
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Question ID : 26433068148

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Question ID : 26433066047
Status : Answered
Chosen Option : 4

Q.1 fFgfafEa d @ $19 @ wen & 1€ a4 7 wufig (2) F RA R amerft?
1331, 2197, ?, 6859

Ans X 1.3375
X 2.5832
25 3.4096
& 4. 4913

Question ID : 26433068839
Status : Answered
Chosen Option : 4
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e | HaRa @ ok ol W viudl wen @ wefta g1
37:100::24:7?::29:76
Ans X 1.64
X 2.75
2 3.70

& 4.61

Question ID : 26433067898
Status : Answered
Chosen Option : 4
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Ans  1.6+2x8+3-1=17

X 2.8-3+6x2+4=-2
X 3.7+3-4+2x8=9
X 42+3-6+2x8=1

Question ID : 264330105108
Status : Answered
Chosen Option : 1
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Question ID : 26433068898
Status : Answered
Chosen Option : 1
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5 A, B &1 TS 8, @) FEfiiEa 4 @ 19 91 oivie gg Fefa sxa1 8, 5 Q, P ST 82

Ans X 1.P+Q-R
X 2.PxP-Q
X 3.P-QxR
&4 P-Q+R

Question ID : 264330104991

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Ans X 1.NTIGEIRYT
& 2.NITEGIRYT
«” 3. NTIEGIRYT
< 4. NTIEGRIYT

Question ID : 26433059890

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.17 g g 3 fugl & 3muw § RER geem W FaffEd & @ $19 ar afieo ad g
+dYT +

Ans X 1.8+4x5+2-6=7
K2 11+8x16+4-7=20
K 3.16+8%x2+6-4=8
o 4.18+2%x6+3-7=50

Question ID : 264330105120
Status : Answered
Chosen Option : 4
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Question ID : 26433068198
Status : Answered
Chosen Option : 4
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(9, 81, 729)
(14, 196, 2744)

Ans 7 1.(17,289, 4913)
< 2. (25, 625, 9375)
< 3. (15, 375, 1125)
< 4. (11, 212, 464)

Question ID : 26433068383
Status : Answered
Chosen Option : 1
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Ans X 1. FHIR

2. TFAR
X 3.3fdaR
X 4. GTdR

Question ID : 26433093117
Status : Answered
Chosen Option : 2

Q.21 Fufafad & Q919 91 sieR-ugg & 7S f@en # yuafig (?) & WM W M
ABCD, BDFD, CFID, 7, EJOD

Ans X 1. DHDD
« 2. DHLD
< 3. DHED
< 4.DLHD

Question ID : 26433065951
Status : Answered
Chosen Option : 2
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Ans X 1.(92-72-52)
X 2.(88-68-48)
< 3.(76-56 -36 )
o 4.(98-78-56 )

Question ID : 264330105078
Status : Answered
Chosen Option : 4
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Question ID : 26433076648

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Ans
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(6)° = 12+ [(V8]) x 4] — (28 + 2) + 24 = 43

o 1. 123 24

X 2.28 3R 24
X 3.813R4
X 4.63R24

Question ID : 26433069214

Not Attempted and
Marked For Review

Chosen Option : --

Status :
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Question ID : 264330104910
Status : Answered
Chosen Option : 2

Section : General Awareness

Q.1 JFHORTS IR SARM ST AUfor & ! gRT Hamn 147 ATl
Ans 1. fOSATR

X 2.9

X 3. R8T

X 4@

Question ID : 264330105448
Status : Not Answered
Chosen Option : --

Q.2 fmfifEd & @ $19 W@ 7 uRdg e | fFead 22
Ans X 1.78h

X 2. OTeRT

o 3. T

X 4. DRI

Question ID : 264330105662
Status : Answered
Chosen Option : 3

Q.3 fufafa & @ o1 ufga Mxie F 1 A2
Ans X 1. fofrcae @@

< 2. 3t SfHER W

X 3. 3HEIG el @M

o 4. AT @

Question ID : 26433054644
Status : Not Answered
Chosen Option : --




Q4 FapR FafifEa #§ | fFa T sTsga wa 82

Ans

X 1. Tt
2. eradt
X 3.7
X< 4.t

Question ID : 26433064201
Status : Answered
Chosen Option : 2

Q.5 In what form is the energy derived from the food that we eat is stored in our body?

Ans X 1.Glucose

X 2. Maltose

«” 3. Glycogen

/< 4. Starch

Question ID : 26433087865
Status : Answered
Chosen Option : 1

Q.6 w v

FITH-A F FdA-B & fH=amsv)

Fraa-A (i) dofous a1

i. frafET A a. TRl 30FcT

i. Fafds B12 | b. Mearer

iii. Teerf@e C c. IETe A=

iv. Faf@s D d. weifsfeatre
Ans X 1.i-b, ii-a, iii-c, iv-d

X 2. i-a, ii-b, iii-c, iv-d
o 3. i-b, ii-c, iii-a, iv-d
X 4. i-c, ii-b, iii-d, iv-a

Question ID : 26433082208
Status : Answered
Chosen Option : 3
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Question ID : 264330105287
Status : Answered
Chosen Option : 1

Q.8 fHfefad & A $i9 I1 e P el A WS Asaread gR1 §-d/a1 T[T 412
Ans X 1. fieqR

X 2.7gX

X 3. fosferIe

4. TR

Question ID : 264330105417
Status : Not Answered
Chosen Option : --

Q9 frafufaa & SH-ar diftie sifter T8 32
Ans 1. 9d & BT 3MfUBR

X 2. QO & SRBR

X 3. ufifes T &7 HfRBR

X 4. 90 favg PR

Question ID : 26433074894
Status : Answered
Chosen Option : 1

Q.10 @T%Wiﬂ?(centml bank)Wm@Hﬁﬁﬁq-ﬂquﬁ%?
Ans X 1. 98 3 &I ga1 MYl &t Fafa wrar Bl
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Question ID : 26433072961
Status : Answered
Chosen Option : 2

Q.11 Distance covered by object is to time.
Ans X 1. double proportional

o 2. directly proportional
% 3. inversely proportional

/< 4. equal proportional

Question ID : 264330105467
Status : Answered
Chosen Option : 3




Q.12 PR § & $H-1 o O weemfw & dafta 98 8, iR 4Ra 9 vaadfa
Grer13it & fator § arrer faar ure

Ans X 1. 3% YR TIoHT & IRASR P =T F ST o1l §
o 2. TETCHISY &1 57+ 1983 H Hadhdl & ga ol
X 3. IR YR iR TRIH &1 RITTAT BT
X 4. 3IF e TR &1 FFST B

Question ID : 26433082163
Status : Answered
Chosen Option : 1

Q.13 i 3R IR $I 3R T I1d I & TG U1l P U vgTel W FHafefad & S«
RIRA 87
Ans X 1. TG

o 2. craforett gfET
X 3. o
7 4. YAyt

Question ID : 264330105166
Status : Not Answered
Chosen Option : --

Q.14 m;ﬁaﬁ@aﬁﬁ%wﬁu&wﬁw%ﬁ%ﬁqwmwmﬁm
ST 82

Ans X 1.099
X 2. 4Ry
X 3. ISR

o 4. TSRId

Question ID : 26433071488
Status : Answered
Chosen Option : 4

Q.15 ATl gar cfis Ae 2024 HT AT Hal GRI?
Ans X 1. g9 (Lausanne) &

X 2. R (Singapore) =i

& 3. @M (Gangwon) &

X 4. PR (Dakar) #

Question ID : 26433071553
Status : Answered
Chosen Option : 4

Q.16 YRd & ygeft wyof SO O HEEdl
Ans X 1.1872

2. 1881
X 3.1860
X 4.1900

Question ID : 264330105491
Status : Answered
Chosen Option : 2




Q.17 Je Redat ot afaae & siea art Yaun! o7 A1 71 82
Ans X 1. 3fcdls Yo

X 2. 3R @A

X 3. TO-dTd Yad

4. TO-GIgaRTT Yo

Question ID : 264330105593
Status : Answered
Chosen Option : 4

Q.18 ﬁmmﬁﬂﬂ)ﬁﬂw 2022 TV 8 3[R, 2022 F ArpaHT | A1 fmam am 1| s
Wﬁwa@ﬁwﬁv@wmél

Ans 7 1.2003
< 2.2001
< 3.2007
/< 4.2005

Question ID : 264330105247
Status : Not Answered
Chosen Option : --

Q.19 RydaR 2022 F Ugd WTE H UTgee YR W vl Saey SRl YR= fbar 7 Tl a8
PRIHH fFH T TSR GRIT Y= a1 741 Y12

Ans X 1. 3fifgam
X 2. i
o 3. Y TR
X 4. dfierrg

Question ID : 264330105314
Status : Not Answered
Chosen Option : --

Q.20 Wi T TR fFafifad @ i 7w @ GaftE 82
Ans X 1.Fd

X 2.0 TRy

X 3. aftErg

& 4. T

Question ID : 26433064648
Status : Not Answered
Chosen Option : --

Q.21 TIHTET (AIBA) HabaTol 1R aH! 3R asfral 31 ufaaifarst &, geeal § vde
IGs____ fiFe &1 g nfeu

Ans 1. 2T
X 2.3
X 3.5
X 4110

Question ID : 26433059437
Status : Not Answered
Chosen Option : --




Q.22 10 e 2022 T T TFHRT F STAR FrafiafEd & @ o9 ot & gerEd &
T oivd 82
Ans X 1.¢tuy Rigeg
X 2. Hardl TEH
3. U= §Ed
X 4. TGS g

Question ID : 26433054559
Status : Answered
Chosen Option : 3

Q.23 fafafaa & @ $F-aRN aidigs FIRGRTER 2003, 2007 3R 2009 & A IR I
BWWW?WWWMﬁW'WWﬂ%Wﬁ
P ?

Ans X 1 TR
X 2. qvdt wefe
3. WS @A
X 4. 18 @H

Question ID : 26433079559
Status : Answered
Chosen Option : 3

Q.24 3ifa $fEar gieew dhr &t RITgAT 1906 AP g A
Ans 7 1.G@]

X 2.
X 3.9

X 4. 959

Question ID : 264330105570
Status : Answered
Chosen Option : 1

Q.25 F5@ F IR | el $YF FI UgaH IifQ|

Ans X 1. SIAM a1 1 §NT, SIS a1 o S grm
X 2. YR 11 & ST, STe @ Qa1 81 Sifereb g
3. ST a1 Sfw gSied 3a-1 &1 St g
X 4. 5o ST e i, STed ST € 6 F BT

Question ID : 26433064738
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude




Q1 e afemr &1 e i i 39% a¢ A9 BT 7 e F7 39 Afaw

e w1 | AR Reatdat | A et @ ofne | S R @ gae A
| & F TEA B e R & e ot AT ot # s
A 900 30 7:8

B 400 36 B:F

s: 1000 24 5:19

D 800 18 3:9

e B 3R T D # ST e &t g arelt omst B Te & s wa S
Ans X 1.5:3

X 29:7

< 3.3:5
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Question ID : 26433076214

Not Attempted and
Marked For Review

Chosen Option : --

Status :

* = smpfa @ x + y + z 719 F

A
X
Y
10° 1200
B E D

Ans X 1.110°
< 2.100°
& 3. 120°
< 4.130°

Question ID : 26433079977
Status : Answered
Chosen Option : 3

Q.3 2727 + 27 % AF B 28 A AU forar wimg, @ e foha=n grm?
Ans X 1.28

X225
X 3.27
& 4.26

Question ID : 26433072991
Status : Answered
Chosen Option : 4




Q.4 tan 240° BT A T 8?2

Ans x 1. (_)ﬁ
X242
v3 43

x4 3
Question ID : 26433058822
Status : Answered
Chosen Option : 3
@s 2 tan 60°
an
“Rn%  HT AW 4T 2
1+tan? 60°

Ans X 1.tan 60°
& 2.sin 60°
< 3.sin 30°
5 4. cos 60°

Question ID : 26433061371
Status : Answered
Chosen Option : 2

*® g a+b=11 3R ab=358, A (a* - b}) BTHF TS
Ans X 1.261
X 2.124

3. 151
X 4.102

Question ID : 26433065324
Status : Answered
Chosen Option : 3

Q.7 e A3 afr w3 9 & fE 14% aiffe # = T IR ==, 9= AR W JHH R
TR 5 94T & HIYRUT TS A 24,200 HH g | TR J1d SIfQI

Ans 1. 12,000
v 2 %15,000
% 3. 310,000

#4.316,000

Question ID : 26433091991
Status : Answered
Chosen Option : 2




Q.8 = faar war 9w fr 8 fafir wufera) g1 3+ 1€ T 9 Ten F gufar g s AW 8
U RT3 1S 9156 Bt A TBAT 2000 B | TH fAfRP Husit gR1 3=t 1 arge a1
e $t 37 wft 8 Hufa gRT S 1S S5 @) pa w@n & uliw & wu § gmifar

gl
WV
2%

7%

500
P, Q, R 9YT S §RT 9} TS 915 B 3 ad F©IT 3R T, U, V 94T W gRT S0t TS a5 @1

3d TEI F i BT 3R FT 8?2
Ans 7 1.150
X 2.175
% 3.200
X 4.125

Question ID : 264330105770
Status : Answered
Chosen Option : 1

Q.9 Tlﬁtan0+sec9=7%3ﬁ?0@3’3},a}55ineﬁﬂﬂiﬁ7ﬂ:

Ans 25

xX1—=

¢ 2=

X3 —

X 4.

Question ID : 26433075405
Status : Answered
Chosen Option : 2

Q.10 3 Y|ATE 6 : 5 % U H &1 TfS ITHT HgH UGG (HCF) 3 §, ot Sl Tt &1

AYTH GG (LCM) faraT ghm?
Ans X 1.80

X 2.64
% 3.110
& 4.9

Question ID : 26433079825
Status : Answered
Chosen Option : 4




Q.M trI%450 @ urcHe H1 fAmfor 20 fo=f & qr1 % W &, 0 St wrf w1 30 fe Y A
g fram goul &1 smaxgwar ghft?

Ans X 1. 250
X 2.150
< 3.400
& 4.300

Question ID : 26433065087
Status : Answered
Chosen Option : 4

Q.12 U RSP TS g P A URT F faudia 6 e aor dvar & 3R fibe orTd 6 fiFe & frg ey
%mﬁwgm?wﬁgowugwéluﬁpaﬁvqaﬁhaaﬁaﬁuom% @ uRT P
91 ( km/h

Ans X 1.04
X 2.1
X< 3.02
& 4.06

Question ID : 26433081600

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q13 T T W 15% 3R 12% P & HANT Ge 59 T Tod ge b W 82
Ans X 1.74.8%

X2 27T%
<3 3%
v4 252%

Question ID : 26433075811
Status : Answered
Chosen Option : 4

Q14 3mfa &, AB=AD=7 cm 3T AC=AE T BC=11 cm &, ar ED #I 7= g Hifsmw)

E D

B C
Ans X 1.10

X 212

X 3.2

& 4. 11

Question ID : 26433074478
Status : Answered
Chosen Option : 4




Q.15 A f5H ol ot g A A B § 4 771 3if¥res a1 ¢ F 5 AT 3if¥e HHG A B 1 TF WIY FH
P §U, T 4 37 ¥ w10 quTE I wrd €1 B 3 fora 139 § B1H R1 BR Ao 272

Ans 1 10T
X 2.15f
X 312
X 4.20fF

Question ID : 26433076282

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.16 YT ABC ¥, BT BAC HT FUGUTSS YW1 BC H D UR Hledl & Ife BD = 6 3R BC = 14
Y AB : AC BT HIF T 872

Ans X 1.3:7
X 27:3
2 3.3:10
& 4.3:4

Question ID : 264330105826
Status : Answered
Chosen Option : 4

Q.17 % AfZAT &1 o 3R Tod BT 3T 5:1 & | i ITBY 3 3R =qg § HH: 10% 3R
20% @t g Bt ST B, A ST s A wfomra ufvad= g9 s

Ans X 1.60%
X 2.55%
X 3.50%
& 4. 40%

Question ID : 26433061402
Status : Answered
Chosen Option : 4

Q.18 Pt o # 25 Tex gU 81 39 o9 § 5 Wiex g FIopTa B SUP RIH W ur! frer fear
STAT 81 U8 Uihar U &Y IR SIgRTS Wit 81 39 39 oo # farar gy 872

Ans X 11357
X 2.148dXR
X 3. 11.5qR
o 4. 128 IR

Question ID : 26433074453
Status : Answered
Chosen Option : 4

Q.19 HiUd T HiaTgd "R BT 15% ATH AHT d9dT 8 3R TRA gH: I/ ARd 31 12% S Ay
uﬁiﬁg%l Tfg AT Rs.322 FT YA Hal €, 9 HUd & o1 39 Wa5d &1 79 e
o )

Ans X 1.Rs.450
X 2.Rs.325
« 3.Rs.250
X 4.Rs.350

Question ID : 26433066302
Status : Answered
Chosen Option : 1




Q.20 =) <t 7€ arfereT 6 auf # G HulEY C1 TUT C2 FT 3T Y g B
FIAT

a¥ | c1 | 2

750 | 850
200 | 250
330 | 350
550 | 650
530 | 270
370 | 390

Frafafae & @ o9 w1 o= a8 T8 82
I.PH c1 ) 3mg, 99 Q # C2 P 319 BT 33.33 Ufa=d 2|
1. 99 T # C1 9YT C2 T NH Mg 400 2|

Ans 4’1.%?”
X 2. 1qurnge
X 3. Fad i
Xoaagaa

CiH|»| R o

Question ID : 264330105730
Status : Answered
Chosen Option : 3

Q.21 gf x +y =36 B, @t (x - 27)3 + (y - 9)3 &1 UF FId B
Ans X 1.1

& 2.0

X 3.2

X 4.81

Question ID : 26433082923
Status : Answered
Chosen Option : 2
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Question ID : 26433081614

Status Not Attempted and
" Marked For Review

Chosen Option : --




Q.23

Ans

afe y+%=3 g ;—3+}‘3+2 BT A 1872

& 1.20
X 2.29
X 3.18
X 4.24

Question ID : 264330105948
Status : Answered
Chosen Option : 1

Q.24 TF 13 A.10. Bt a1d 31 urfas M &) RNgars? e 2 o1 meR far s g e

Ans

STYR BT AR 13 A0, 1 X BT SIS 1 872
2 1,174 99,
o 2.208 9.1,
< 3.246 4.
X 4,152 99,

Question ID : 264330105847
Status : Answered
Chosen Option : 2

Q.25 18 cm T T fHA) dTe & TP el ¥ 6 mm T T T R &1 Faior fbar siran 21

Ans

fafifa ar 9 «ars 39 Sifcm
X 1.324m

X 2.143m
X 3.234m
 4.108m

Question ID : 26433063903

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Section : English Comprehension

Q.1 Select the correct direct form of the given sentence.
She asked me why | had been smoking that day.

Ans X 1. She said to me, “Why you smoke today?”

25 2. She says to.me, “Why were you smoking this day?”

«” 3. She said to me, “Why were you smoking today?”

25 4. She said to me, “Why are you smoking today?”

Question ID : 264330104641
Status : Answered
Chosen Option : 3

Q.2 Choose the incorrectly spelt word.
Ans X 1. Cropping

< 2. Tyrannical
«” 3. Traffickng
/< 4. Slaughter

Question ID : 264330104753
Status : Answered
Chosen Option : 3




Q.3 Rectify the sentence by selecting the correct spelling of the underlined word.
David was put off by the glamming eyes in the dark.

Ans X 1.gleaning

& 2. gleaming

25 3. glamning

25 4. glaming

Question ID : 26433065143
Status : Answered
Chosen Option : 2

Q.4 A sentence has been given with a blank to be filled with an appropriate word. Choose

the correct alternative.
If you are the one who is planning to lose weight, remember to keep your snacking

Ans 1. moderate
< 2. prejudiced
#< 3. uncontrolled
< 4. outgoing

Question ID : 264330104762
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate ANTONYM of the given word.
Casual

Ans 7 1. Formal

/< 2. Spiritual

75 3. Traditional

25 4. Personal

Question ID : 26433060630
Status : Answered
Chosen Option : 3

Q.6 Select the appropriate option to replace the underlined word with the adverb of time.

| went to Paris regularly.
Ans X 1. happily
«” 2. yesterday
< 3. twice
< 4. often

Question ID : 26433073886
Status : Answered
Chosen Option : 2




Q.7 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

The child was / gazing longingly / at the toy.
Ans X 1. gazing longingly
/< 2. The child was
5 3. at the toy
«” 4. No error

Question ID : 26433084862
Status : Answered
Chosen Option : 1

Q.8 Choose the correct meaning of the given idiom.
Bag and baggage

Ans ¢ 1. With all of one’s possessions
2< 2. With burden
< 3. Without any aim
/< 4. Without happiness

Question ID : 26433060920
Status : Answered
Chosen Option : 1

Q.9 Select the option that expresses the given sentence in passive voice.
Robin rolled the marble through a small plastic pipe.
Ans ” 1. The marble was rolled through a small plastic pipe by Robin.
/< 2. A small plastic pipe was rolled through a marble by Robin.
5 3. The marble was rolled by Robin in a small plastic pipe.

< 4. The marble through a small plastic pipe was rolled by Robin.

Question ID : 26433088545
Status : Answered
Chosen Option : 1

Q.10 Rearrange the parts of the sentence in correct order.
Michael Holding, who
P. 20 years, has finally drawn curtains on
Q. commentary panel for more than
R. was a member of the Sky Sports
S. his stint behind the microphone

Ans X 1.QPRS
< 2.SPQR
& 3.PSQR
4. RQPS

Question ID : 264330104662
Status : Answered
Chosen Option : 1




Q.11 Select the most appropriate ANTONYM of the given word.

Conceit
Ans X 1.Reveal
«” 2. Modesty
/< 3. Hidden

75 4. Concealment

Question ID : 26433060799
Status : Answered
Chosen Option : 2

Q.12 Select the most appropriate option to fill in the blank.
The planets are around the sun.

Ans ¢ 1. revolving
< 2. rounding
/< 3. circling
/< 4. rotating

Question ID : 26433085586
Status : Answered
Chosen Option : 1

Q.13 Select the most appropriate ANTONYM of the word ‘fertile’ in the given sentence.

The teacher asked, “Wheat is grown in which kind of land - rich, wet, barren and
fecund?”

Ans X 1.Fecund
< 2. Wet
/< 3. Rich
«” 4. Barren

Question ID : 26433060117
Status : Answered
Chosen Option : 3

Q.14 Select the correct passive form of the given sentence.
The manager explained the latest assignment to Lana.

Ans 1. The latest assignmentwas explained to Lana by the manager.
/5 2. The latest assignment had been explained to Lana by the manager.
< 3. The latest assignment had been explain to Lana by the manager.

/5 4. The latest assignment had explained to Lana by the manager.

Question ID : 264330104572
Status : Answered
Chosen Option : 1




Q.15 The question below consists of a set of labeled sentences. Out of the four options
given, select the most logical order of the sentences to form a coherent paragraph.
P. We are naturally social creatures.
Q. A bit of solitude—as everyone from Thoreau to Proust have written about—is one of
our most powerful tools for disconnecting and recharging.
R. This does not mean you need to lock yourself away in a room at the end of the day.
S. However, all that time with people takes its toll.

Ans 7 1. PSOR
X 2.QSRP
X 3.PQRS
X 4.SPQR

Question ID : 264330104708
Status : Answered
Chosen Option : 3

Q.16 Select the option that can be used as a one-word substitute for the given group of
words.

Feeling or showing extreme tiredness
Ans X 1. Drowsy
< 2. Nervous
& 3. Weary
< 4. Vitalised

Question ID : 26433060856
Status : Answered
Chosen Option : 1

Q.17 Select the most appropriate meaning of the underlined idiom that can be substituted in
the following sentence.

He was murdered in cold blood.
Ans X 1.when blood was cold

«” 2. deliberately

< 3. regretfully
25 4.in cold weather

Question ID : 26433072227
Status : Answered
Chosen Option : 2

Q.18 Choose the option that can substitute the underlined segment correctly and complete
the meaning of the sentence.

Navika is a superb and impressive child in her class.
Ans X 1.Vivid

X 2. Splendid

< 3. Dazzling
«” 4. Brilliant

Question ID : 26433088883
Status : Answered
Chosen Option : 4




Q.19

Ans

Select the most appropriate synonym of the given word.

Transient
< 1. Trap
75 2. Transform
25 3. Transmit
«” 4. Temporary

Question ID : 26433072197
Status : Answered
Chosen Option : 4

Q.20

Select the most appropriate option to fill in the blank.

It is very difficult for her to

Ans 7 1. keep a secret
X 2. cry a secret
25 3. make a secret
75 4. touch a secret
Question ID : 26433088785
Status : Answered
Chosen Option : 1
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
If writers only dared to dare, a Suetonius or a Tacitus of the Novel could exist, for the Novel is
1) the history of manners, turned into a story and a play, as is History itself
often enough. And there is no other (2) than this: that the one, the Novel,
cloaks its manners (3) the disguise of invented characters, while the other,
History, (4) names and addresses. Only, the Novel (5) much
deeper than History.
SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.unnecessarily

X 2. needlessly
« 3. essentially
5 4. optionally

Question ID : 26433084950
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If writers only dared to dare, a Suetonius or a Tacitus of the Novel could exist, for the Novel is
(1) the history of manners, turned into a story and a play, as is History itself
often enough. And there is no other (2) than this: that the one, the Novel,
cloaks its manners (3) the disguise of invented characters, while the other,
History, (4) names and addresses. Only, the Novel (5) much
deeper than History.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1. pragmatism
X 2. sample
" 3. difference

< 4. matter

Question ID : 26433084951
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If writers only dared to dare, a Suetonius or a Tacitus of the Novel could exist, for the Novel is
(1) the history of manners, turned into a story and a play, as is History itself
often enough. And there is no other (2) than this: that the one, the Novel,
cloaks its manners (3) the disguise of invented characters, while the other,
History, (4) names and addresses. Only, the Novel (5) much
deeper than History.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1.among

/< 2. around
«” 3. under
X 4. beside

Question ID : 26433084952
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If writers only dared to dare, a Suetonius or a Tacitus of the Novel could exist, for the Novel is
(1) the history of manners, turned into a story and a play, as is History itself
often enough. And there is no other (2) than this: that the one, the Novel,
cloaks its manners (3) the disguise of invented characters, while the other,
History, (4) names and addresses. Only, the Novel (5) much
deeper than History.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1.removes

5 2. strangulates
«” 3. provides
X 4. negates

Question ID : 26433084953
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

If writers only dared to dare, a Suetonius or a Tacitus of the Novel could exist, for the Novel is
(1) the history of manners, turned into a story and a play, as is History itself
often enough. And there is no other (2) than this: that the one, the Novel,
cloaks its manners (3) the disguise of invented characters, while the other,
History, (4) names and addresses. Only, the Novel (5) much
deeper than History.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans

5 1. listens
o 2. probes
/5 3. bargains
X 4. imbibes

Question ID : 26433084954

Status : Answered

Chosen Option : 4
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